[image: image1.emf]


RDMOTO CZECH REPUBLIC



info@rdmoto.eu


www.rdmoto.eu

S4SDM
Suzuki SV 1000
	ID
	Description
	Cat.N
	Qt

	1
	Alu. cylinder 33mm
	47
	1

	2
	Bolt M10x150x1,25
	932
	1

	3
	Slider adapter
	537/B
	1

	4
	Bolt M6x20
	1024
	2

	5
	Washer M6
	1023
	2

	6
	Cylinder adapter
	10
	1

	7
	Spring washer M10
	801
	1


 Fitting kit left side:  
                        Fitting kit right side:
	ID
	Description
	Cat.N
	Qt

	1
	Alu. cylinder 35mm
	46
	1

	2
	Bolt M10x130x1,25
	905
	1

	3
	Slider adapter
	537/B
	1

	4
	Bolt M6x20
	1024
	2

	5
	Washer M6
	1023
	2

	6
	Cylinder adapter
	10
	1

	7
	Spring washer M10
	801
	1


INSTRUCTIONS
1) Unbolt
original bolt from the frame according to the picture below.
2) Put washer ID7, slider adapter ID3, cylinder adapter ID6 and cylinder ID1 on bolt ID2.
3) Fit slider using two bolts ID4 and washers ID5.
[image: image2.emf]
[image: image3.jpg]


[image: image4.png]



1

